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Paper 1
gyutent I

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
g : (1) A yEAutehd 918 (60) Sgfae wed o o Y ween &M (2) MW
3R
(2) =R T (50) AT SWforn

1.  When choosing a teaching method, | 1. ereaMAT=T Ygdl fHaedr et

which of the following is considered I ST foaR A= TS 99id
to be the least important ? F o ?

(A) Nature of the content being

(A) fererfacar Som==n IRRE WEY
taught

(B) 3UcTodl GIeHA-9ri
(B) Available resources

(C) drgashAT= 3fgee

(C) Course objectives

(D) Students’ likes and dislikes (D) fereneatea smerei-fee

2. The best feedback about mis- 2. 3‘*“'““ SIS FATH  HcATHIT

learning is obtained through : | s e
(A) diagnostic testing (A) Fereh Tdtero

(B) summative evaluation (B) eI HodToH

(C) objective-based testing (C) sfewrenfa e

(D) qualitative evaluation

(D) TUMCHe HeHHTI

3 [P.T.O.



The question, “Distinguish between
animal cell and plant cell” is based
[0} s TORSUUUUUNUU objective.

(A) Comprehension

(B) Analysis

(C) Synthesis

(D) Evaluation

Students who can effectively express

their thoughts show..........ccccoeuvnnnnee.

intelligence.

(A) Emotional

(B) Linguistic

(C) Inter-personal

(D) Cognitive

The factors which most affect the

quality of teaching are :

(A) learner’s abilities, teacher’s
communication skills, teaching
method

(B) teaching method, teacher’s
communication skills, teacher’s
training

(C) teacher’s salary, teacher’s
personality, teacher’s training

(D) classroom environment, use of
audio-visual aids, learners’

intelligence

AUG - 00115/1—A

“yTolt SRIfYTeRT I IEIdT ShITTERT AT

D) JeFHIA

VNIR CIRED
(B) wftren
(C) ATR-a=forem

(D) sNuTTHE

JEIcTdeh! SRIVR HZh STEATIATEAT TUTeieR

ST S 9o a2

(A) AeggTeRcai=an &rHal, fyreTeRT=n
T HIRY, AT TS

(B) 2reuAT= Ugd, foereRte wWOwOr
FTed, e wftrero

(C) Tyrerrrn wWR, et =afdyd,
forerra wfdreror

(D) SFTATATERTT, Toh—4Ted T AT,
SEFTTR A Qe




The most important purpose of home

assignment is to :

(A) keep students well engaged

(B) instill habit of hard work in the
students

(C) provide feedback to the teacher
regarding students’ learning

(D) help in better retention of
content

Doing research involves these

steps : (1) stating research objectives

and hypothesis; (2) Methodology;

(3) Identification of research

problem; (4) Collection and analysis

of data; (5) Statement of results and

discussion.

Identify their correct sequence :

(A) 152-53—4—5

(B) 4-1—-3-2-5

(C) 3—51—-2—4—5

(D) 2—-1-55—-3—4

The bibliography of a research

report :

(A) lists all the books published on
the topic

(B) lends credibility to the report
and serves as a guide for further
research

(C) includes
references listed in it

summaries of

(D) is always written in the format
prescribed by the American

Psychological Association

6.
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TEUTS QUAMIE Hald Hewaral 3e9l

(A) foenezi amTed YR HRERd 390

(B) foeneatt & Soar=l 9o ardul

(C) forersri faeneaten ste=aTaTeq
JATH <01

(D) ST ANTEl YROT BvarE Hed
=0

GIMeA A (1) HeveErEt 3 9

Sefis TEE; (2) TEfaRT; (3)

TIleE a9 Sfesw; (4) fHeswren

TUTTcHeh /AT HIfgdT T seTeoT Shio;

(5) wicdare ==icas faa=ed s,

) STEET ST el STal. e Ay

EZIGIE] I

(A) 15253545

(B) 451—-3—-2-5

(C) 3515245

D) 2—»1—-5—3—4

TEE Ged eaTere HeH

(A) =9 @1 fawEer g 9d
g&feRTel ARl foerel STEd

(B) ATEHAMeS 1 STEaTe™ fosaraman
T Bd a9 Geld HeeArEre!
ArieeE B

(C) ga STHCIe Yeiish TRHT= SRIeT
feeten sal

(D) areware faemn wa TR
IR RGN G S Ee R R IRE B |
STl JGAIEaR= shal S

[P.T.O.



10.

11.

12.

No hypothesis can be stated in........

terms.

(A) directional

(B) declarative

(C) null and interrogative
(D) general

The F-test :

(A) is basically one-sided
(B) is basically two-sided

(C) can be either, depending on the
hypothesis

(D) can never be two-sided
Experimental research can be :
(A) easily generalized

(B) easily analyzed

(C) easily planned

(D) precisely controlled

The quality of a research journal is

indicated by its............... .
(A) Arindex
(B) gindex

(C) /o score

(D) impact factor

10.

11.

12.
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ArEdr Id T

(A) fewmeeis

(B) STHWUHS

(C) I AU YeATCH
(D) 9m==

F-=r=oft

(A) H&Fd: Th 9§ 3Td
(B) qeaa: fgysl omd

(C) TRIHRITER THYS fohan st o/ a
(D) fgys wef= =d

(A) HeSTIU HTHIR ]

(B) w&sul fergetomm

o N

(C) wHesur s

(D) “wehuume s

(A) Arindex
(B) gindex
(C) i/o score

(D) impact factor




Answer question Nos. 13 to 18
based on either the English

passage or the Marathi passage:

Parents have to develop the habit
of thinking in terms of ‘we’, not
‘me’. Think about the whole family.
Some conventional, orthodox men
feel they are the heads of the
families. So it’s their right to get
all the advantages, privileges etc.
Similarly some modern women
think that ‘Gone are the days. Now
we are working and earning by
shoulder to shoulder to men. Hence
the women should get the equal or
sometimes even more advantages
and privileges’. Both such types of
parents do not have ‘we’-feeling.
Family-oriented men and women
would think of the whole family as

a unit, the advantages as well as

AUG - 00115/I—A
9 o, 13 ° 18 ¥ Y feeiean saramer

amerTiid  3rTgd.  gUSIate fear
TSI 3ATaTaiel gyt 3«

S | I

ARSI STeaETeh SAHT=el Fodema]
e ool efor safvesi=i el Sfteras
o Al YR TSI FF hell. Al

;S B Sgal W e, uor e

TS ARA THIVTER rge =

Aifgcgd Fafaad . o SgaRT e

quId Tesoiedl Y§ WIS fafeat et o7

TS I Tole 99 WA o TS

SICSEICIES BING LIRS G MR G WG]
e WEgT AUfA ITIul WS ot

ST HTSTA TR SoAehe drgul

[P.T.O.



troubles of each and every
individual member in the family.
Thus 1n any interpersonal
relationship—between spouses,
between parents and children, and
between children—the thinking
should be of ‘win-win’ type. The
habit-formation should start from
parents. Naturally the children will
receive and absorb the same

method of behaving.

When we listen with the intent to
understand others, we begin true
communication and relationship
building. Generally parents go on
ordering, dictating, coercing the
child without listening to him/her.
Hence there 1is no two-way
communication between parents
and children. One-way ordering and
the other-way obeying or
disobeying is generally observed in

the society. Even in parent-child

AUG - 00115/I—A
sa. fafay Sd-weeEt 9 afeR=T

TS W9 9 FgT 3TE. TU AR A

qifgcaegagd ol Aehelt ol Brdt.

WeTdg SHTS T oATgATen, ‘s

AT HIGHIGH T, SSHRie! —

e fafay SegrE, stehe qermarE

gl 9 Ugd - Uded dag, R Al

S IERE TG M I S | PR C NG

dfgshd hell STAd— AN Teh-

YehTEl STCqERh AEHIN es] &6

B, e e v M Sferd, o

e o= TRl Shel. AT SRRl

fafea aron enfor et Al 37X HHI

$hol. M AIdd AUS wifgcret

SR STl Y= SAfR-

FHIOMATA  ASUD HHT FTA. =1

STV STl ST X Tl Ao




13.

relationship, it’s better if parents
first listen to children, observe their
expressions, behaviour. Here they
try to understand the child. Now
it’s likely that their reaction would
be in line with the child’s ability
and expectation. In fact, parents
have to remember that Success
definitely deserves a hug, but
Failure needs an even tighter

embrace.

Some conventional men think

that :

(A) they must take all the decisions

in the family

(B) women should get equal

advantages and privileges

(C) they must have all the
conveniences and advantages

in the family

(D) everyone in the family must

obey them

13.

AUG - 00115/1—A

ATes ITeE AT hTerdl HHT e,

afeesTaal 3Tesl JIFal. arard e

stfyer aeefens geral. Aehsiiae ey
ezt TEl WY Sell. v X

o™ fafeam sTfoRar™ aremEn, 3™

Tfoeh SRl TaR $1|C>1- T JTAravId

SIS SATdr=a1 HIoET [H:Esg

AMCHFR LA ded e 393ed

A fSRfaer. & 3T Te <3fieR <ot

AR ST feelt 3TRd.

R Ieh AT He<aT™ e hivd 2

(A) gHS

(B) <fad

(C) YT

(D) @

[P.T.O.



14.

15.

16.

Thinking in terms of ‘we’ means

thinking about :

(A) the family

(B) the nation

(C) both men and women
(D) the society

Which of the following statements

1s true ?
A)
(B)

Orthodox men have ‘we’-feeling

Children learn methods of

behaviour from their parents

(©)

Parents and children must have

a friendly relationship

(D) The habit formation in the

family should start from grand-

parents

True communication and

relationship building begin with :
(A) ordering and dictating

(B) ordering and obeying

(C) expecting and speaking

(D) listening and understanding

14.

15.

16.

AUG - 00115/I—A
o= ARG TR TEOTS ot TS Seror==

ST §RH S

(A) sTheH
(B) TEUEYW

(C) geHmIA
(D) e

FACYYTh TSI (9] 1 ®e

B ?

(A) WO HWEwe T A S

(B) SiteMTeRe UrRUAET Ak GieZahI0

TS

(C) WSt 9o =gl STEeAHS

(D) Hifecqsaeer = Hhodlcaros

gferd, IToT SREhT=T hId HETeT hTH
Tl ?

(A) T Sel Hexd TS Sl
(B) fafea vme s W= &d
(C) 9™ Hewd AR

(D) ST WAl TR J1eIH
EECl

10



17.

18.

If parents try to understand the
child, their reactions will be in

consonance with the child’s :
(A) behaviour

(B) achievements

(C) abilities

(D) ambitions

The most appropriate title for the

passage 1s :

(A) The parent-child relationship

and the family
(B)
(©

The compulsions of family life

True relationship building

17.

18.

AUG - 00115/1—A

Scioal aTIHes ITear=l aT HHT STl
TG, T A A faaeTdl s e

AR SierTeAT Sl Tersomet Tt fHesred!.
(A) qaid s, Y Th

(B) oY ek, Y TR

(C) wyui faum s{le”

(D) dqui fau™ 9=

g1 3qr=ate Aferes gudE IS

o ?

(A) IrEHAH FoITE

(B) yrom emfor sied

(C) Tfera aArfec™ A<

D d fail in th ~
(D) Success and failure in the (D) T s e
family
19. Which of the following is mof an | 19- TR R 197 HRTHT ST
example of non-verbal T ?
communication ? (A) IFEH
(A) Letter Writing (B) e=arafiel aEes
(B) Facial Expression
(C) ST o
(C) Pace of Speaking ) )
(D) 9= fear wriaan
(D) Silence
11 [P.T.O.



20. On which criteria communication

21.

can be classified into ‘Intra-
personal’, ‘Inter-personal’, ‘group’

and ‘mass’ communication ?
A)
B

Medium of communication

Number of participants in

communication

(©)

(D)

Message of communication
Purpose of communication

Which of the following is the most
correct description of ‘breaking news’

in the context of news-channel ?

(A) A news mainly about a shocking

or violent event

(B) A news mainly based on
pictures taken by hidden

camera

(C) A short and developing news
about an important event just

discovered

(D) A precise news focusing on
investigation of political

corruption

AUG - 00115/1—A

20. HIvTeAT fHwST=AT SER YA

21.

‘TG-dare ' S e Halg, TeHA
T SHEAYA 3T IR0 Hidl I 2

(A) A HEEH

(B) WU WEHRl SHeRiTel HE
(C) T Has1 A1 SRE
(D) ST R

eeE-areAT HEHTd SehiT =1’ A1 W

Eeiledeh! Faid TG Ui hiod ?

(A) &I YFhREs o1 feqed sl
Heiferd st

(B) & g AT fodeiedn se-el
Heiferd st

(C) TohcT= hoselcdl HetareAdl HeAgit

Tafd Bt Ao foshaasier s

(D) TSThIT TSSTHRT=AT Y o Sehier
YR STk ST

12



22.

23.

24.

What is the significance of the 1980s

in the context of television in India ?

(4)

Television transmission began

in India

(B) DTH services for television
began in India
(C) Rapid expansion of

Doordarshan’s network

(D) Privately owned TV channels

were allowed in India

The round table sitting arrangement
in a typical conference room

facilitates :
(A) one-directional communication

(B)

more 1nteractive communi-

cation amongst participants

(©)
(D)

top-down communication
bottoms-up communication

What communicative dimensions are
added when PowerPoint presen-

tation i1s used in teaching ?
(A) Only visual
(B) Only Audio
(C) Audio as well as visual

(D) Audio, Visual and Interactive

22.

23.

24.
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IRAT® GFesami=a FgHid 1980

Ty HE<d I 3 2

(A) YR el gaqum= geamd
(B) wRar@ gIfasareft geiquryre!
ST Fo= gEa

(C) SEe=a Siearan o foraR

(D) @it gIfE=amht afg=a YR

LA
HIHTRO UREE SHaqHe STl sIuar=

MRS 93k &A1 HITAT THTAI

I W ?d 2

(A) THT a1 THCY T

(B) HeuN eKiALTe  SATaXfsharcas
R RIRE]

(C) ST |

(D) SeETHT WO

Terehfordr dfeRdise TRl AR

hedMHos HHATIATC! ShIvId STAH A

THesara 2

(A) FH T

(B) % A
(C) gm=m anfor g9
(D) #TeA, TF ST AT hATHS
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25.

26.

Consider the following code words

for the fruits

Banana — 010, Apple — 111,
Mango — 101. By the nearest

decoding procedure the codeword

000 will be decoded to -
(A) Banana

(B) Apple

(C) Mango

(D) Either Apple or Mango

Which of the following is zrue for the

real numbers © and 2 ?

(A) m and 2 both are rational

numbers
(B) n + 2 is a rational number

T

(C) 27 and NG

are not real

numbers

(D) m?is irrational for every natural

number n

25.

26.
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Tl JHY Tedia ATHRI0 Hichideh

VS A

Hos — 010, THEE — 111, &1 —

101 T SRHId S Sidesdl I8 A1

M :renfae AR 000 a1 Hiehiaew
RENFAF Y Y SR —— e
(A) Hos

(B) Wi=R

(C) stien

(D) wwt=g fehen stien

TeATeueh! v faem na (2 a1 arqa

T Geuid T 3R ?
(A) na 2 SR IRET G&A 3TRa

B) n + 2 & UHT = e

T . A
— T
(C) 2na N Il SIS §&A1 TRl

D) n? & Y& "giier 9@ n 9l

AT T 3R
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1 1
27. Suppose x; = 10, x5 = x; + o7 | 27 WEST x; = 10, x, = x; + o ,
1 : 1
following is not true ? faym @ 3 ?
(A) No two terms of the sequence . .
(A) I FEAMIIdI IV S &l
are equal
HHMHE '_'||_'€>£|(‘|
(B) At least one term of the
sequence is larger than 10.1112 (B) a1 HEAMIGIA THall W&l
(C) The sequence is strictly 10.1112 Uem w3l T8
hcreasing (C) T AT HHTT: qTeEd SO 3T
(D) Every term of the sequence is
less than 11.11. (D) Il GEIMTAIT Ycdsh Hedr 11.11
28. Assume that human beings will REURGER I
survive on the earth for 1nf1n1ty 28. &1 ai\qv“q{ 3?F|?|‘ ch|o¢|l.|¢fq BN r\’|°|'\'|
Then TfeeTr
(A) There is a person whose family
line will never terminate (A) TPl AT SRS ST
(B) Everyones family line may get !
terminated o o
(B) 9deh=l a¥IHed ©eld B8l ITohd
(C) At least 50% of the present
person’s family line will not be (C) +HId FH 50% K= aATMES
terminated SrEE TEA
(D) At most 50% of the present
person’s family line will not be (D) STTA ST 50% SHRIT= TAD
terminated JEEld T
15 [P.T.O.



29.

30.

Three boys {b;, by, bs} and three
girls g7, gy, g3} are registered in a
marriage bureau. Suppose each boy
wishes to marry a girl of his choice.
In which of the following situations
will each boy get married to a girl

of his choice.

(A) b, likes g, by likes {g], &} and

by likes gy

(B) by likes {gl, gg}, by likes g3 and

bg likes gy

(C) bl likes g2, b2 likes {gl, gz} and

bg likes g5

(D) by likes gy, b, likes {g,, g3} and

bg likes gy

Suppose that in an organization
every teacher is a scientist; every
scientist who 1s not a teacher is an

engineer. Therefore :

(A) every engineer is a scientist
(B)
(©

every teacher is an engineer

every scientist 1s either a

teacher or an engineer

(D) no teacher is an engineer

29.

30.
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Tl faame-ieolt §Ed {by, by, by} A
T g 9 gy, go, gy A A HeAA

1A Aigfaet. TS YA ol

TEeA Helreie o shiaard 3. W

Erert feetedn v aRfeadmed g

Tl STTIeA i HeToie v ]

IR B ?

(A) by = TEd g A, by =+ gy, g
A A by T gy A IR

(B) by = TEd {gy, g3} T, by = g5
A by T gy T AR

(C) by =t 9HA g, A, by = {5y, &)
ol d by Ell gy 3R

(D) by = TEd gy W, by = gy, g3
MG by A gy AR

Teh! TEIME) Y T¥1eres 31 S o1
e ST, Sl foreres A, @ eif
e W ¢

(A) Y& ARFAT & ASIE TR

(B) v foars = sAfiEar e

(C) e o=frek @& ferk amme fohen
Afvar e

(D) whroret ferer =1 SAfaar et

16



31.

32.

L, M, N, P and Q appeared for a test.
M' scored better than P, but scored
less than L and N. L scored better
than N. P scored better than Q.
Which of the following is the correct
descending order based on their

performance ?
(A) LNMPQ
(B) NLMPQ
(C) QPMNL
(D) PQMLN
Based on the following statements,

which of the conclusion/s is/are

correct?

Statement I : Some leaders are

intelligent.

Statement II : All the managers

are intelligent.

Conclusion 1 :All the leaders are

intelligent.

Conclusion 2 :Some managers

are intelligent.
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Both 1 and 2 do not follow

31.

32.
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L, M, N, P 3701 Q et =m=ofl wi&ret
FHA. M @ P e eifas o e,
g L enfor N & et o e’
L o N U&n ffees 7o fHeerel. P oen
Q U& ANl U THel. &= o

foaIR 2T, WTelicTieh! Shivrl Tt Savdl

TTUTsRH SrEfedl ?
(A) LNMPQ
(B) NLMPQ
(C) QPMNL

(D) PQMLN
qeia faumi=a sneR, wirefiads
SIO(A) fTseRs e Ada Jar ?

faam 1@ <@ 0 gfgam emed.

faam 11 : 9d =gazenus gfgam
3TRd.

Rl 1 @ ®E T gfgam o

frepst 2 @ @S TEReUE gfgam
1.

(A) w1

(B) e 2

(C) 19 2 It

(D) 19 2 =R A
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33.

34.

Based on the following statements.
Which of the conclusion/s will

follow ?

Statement I : All tigers are
brave.
Statement II : Some brave

animals are kind.
:Some tigers are
kind.

:Tom i1s a tiger, so

Conclusion 1

Conclusion 2
he is brave.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Mohini, Nanda, Seema, Anisha and
Sangeeta are participating in a race.
At the end of the race, Seema was
ahead of Nanda but behind Anisha.
Mohini was behind of all. Sangeeta
was ahead of Seema. Who must be
the first three in order of finishing
the race ?

(A) Mohini, Sangeeta, Seema

(B) Sangeeta, Seema, Anisha

(C) Anisha, Sangeeta, Seema

(D) Seema, Sangeeta, Anisha

33.

34.

AUG - 00115/1—A

TEd faumren snen Erefierden! o
=R wed Idd ?

faeam I @ @e o TR 3R
fagm II : <@l TR 9o Soreg sieal.
frepel 1 @ w1 a gFeg STRA.

frewel 2 @ T M o7, WA A TR
AR,

(A) w1
(B) e 2

©) 192 <&
(D) 19 2 I TR

g, wer, o, AT o G e
grvaTeA] T WF ¥d sTed. waHi
qUuaTel ded G e e g
Tt AT g3 2t Tt Suarn ufge
foeit o s/ ?

(A) wfet, g, |
(B) e, €, sfren
(C) efrem, wfian, €
(D) e, @, sifrem
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35.

36.

Which of the alternatives will
complete the following letter series ?

HIG, LMK,........... , TUS, XYW.
(A PQO
(B) OPQ
(C) NOP
(D) MNL

Which of the following represents
the correct relationship among

Fruits, Mangoes, Alphanso ?

w((©

() ()
<c>@ O

35.

36.

AUG - 00115/1—A

ETATTUh] hIvT 9aie feeielt S1eR Sroft
ol kA ?

HIG, LMK,............ , TUS, XYW.
(A) PQO
(B) OPQ
(C) NOP

(D) MNL

WICAeTeh! 10T T e, 371, T4’
el I gey gl ?

w((©

() ()
<c>@ O

19

[P.T.O.



Use the following table to

answer question Nos. 37 to 40 :

The following table shows the
distribution of candidates who
appeared for MBA entrance
examination and candidates who
passed the examination in seven

different institutes.

Distribution of Candidates
Institutes Appeared Passed
A 22% 18%
B 15% 17%
C 10% 13%
D 17% 16%
E 8% 9%
F 12% 15%
G 16% 12%
Total No.of
Candidates 8550 5700

AUG - 00115/1—A

Y9 @R, 37 o 40 IS Wt daar=n
U AT :

Tl ToRATE 1 Femed MBA =11
TET WHEmE SEeiedn S @ we
3ol Sce qheneAter Afedr foe
qR ?

wremeAte faavor
T T SHAA | 0T Fere
A 22% 18%
B 15% 17%
C 10% 13%
D 17% 16%
E 8% 9%
F 12% 15%
G 16% 12%
TR et 8550 5700
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37.

38.

39.

What i1s the ratio of passed
candidates to the candidates who
appeared for the examination for

institute A ?

(A) 9: 11
B) 14 : 17
(C) 6: 11
D) 9 : 17

What i1s the percentage of passed
candidates among the candidates
who appeared in institutes B and C

together ?
(A) 68%
(B) 80%
(C) 74%
D) 65%

Which institute has the highest
percentage of candidates passed to

the candidates appeared ?
(A) B
(B) C
(© F
(D) E

37.

38.

39.

AUG - 00115/1—A

A T FEmEA T S e
qheneffa @ AEOmE) WEe aEe
qRemeffsft sl UK &E AR ?

4 9:11
(B) 14 : 17
() 6: 11
D) 9 : 17

B 3701 C A1 GEHed Tehiaaul wiaen
STHCT THETAY dyd S0 Srete
Temeffel TFRall HE AR ?

(A) 68%
(B) 80%
(©) 74%
D) 65%

THEE SHeed Tendiaed Il Sered
el Tahart SIvcal G
Tt g ?

(A) B

B) C
(C) F
(D) E
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AUG - 00115/I—A
40. The number of candidates passed | 40. A a1for Dm;i@'q%f{ TR ST AT

from institutes A and D together Theneff=h T & C onfn E =1 geerge)
exceeds the number of candidates T S st e
appeared from institutes C and E —
together by : .
(A) 228
(A) 228
(B) 279
(B) 279
(C) 399
(C) 399
(D) 407
(D) 407
Use the following table to UV . 41 I(UT 42 W @A
answer question No. 41 and 42: qETET ISTERT HET

Proportion of population of seven

T e 1997 AEA AR aEd
villages in 1997 :

THTT
Village | % Population| % Population
M | FAREAST % | SRS G
below Poverty
Line FREAET %
M 16 38 M 16 38
N 15 59 N 15 52
0 11 49 @) 11 42
P 16 51 P 16 51
Q 11 49 Q 11 49
R 21 46 R 21 46
g 10 58 S 10 58
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41.

42.

43.

Find the population of village Q if
the population of village M below
poverty line in 1997 is 12160.

(A) 18500

(B) 20500

(C) 22000

(D) 26000

If the population of village P in 1997
1s 32000, then what will be the
population of village N below
poverty line in that year ?

(A) 14100

(B) 15600

(C) 16500

(D) 17000

Which of the following is the correct
chronology of communication
technologies ?

(A) Still Photography, Computer,
Radio, Internet

(B) Radio, Still Photography,

Computer, Internet

41.

42.

43.

AUG - 00115/1—A

M 31 e 1997 &3 TGRS @refte
AREE 12160 318a, T Q A1 TaT=!
THU dehde fohdt ?

(A) 18500

(B) 20500

(C) 22000

(D) 26000

P =1 = 1997 AEA deREEA 32000
A, T s N 31 el Siigery
Ted dhdean fohdl s&a ?

(A) 14100

(B) 15600

(C) 16500

(D) 17000

L4 k4 L4 AN n L
AT dAAMETED LllAledHehl Ul

HATHA AT AR ?

(A) feer srEnfason, Tomes, Yfest, seie

(B) fe=q, feer wrnfason, Gioms, setie

(C) Still Photography, Radio, ‘ ‘
(C) TR rafasn, e, Tk, e
Computer, Internet
(D) Radio, Computer, Still a5 ~ .
Photography, Internet (D) fes3h, Giureh, feer Brfes(or, 3e3e
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44. On the basis of structure and

45.

46.

function identify the odd out from
the following :

Facebook, G-mail, MySpace, Orkut,
Linkedin :

(A) Linkedin

(B) G-mail

(C) MySpace

(D) Facebook

In the context of internet what 1is

the full form of URL ?

(A) User Requested Link

(B) Ultimate Response Location
(C) Unique Request Locator
(D) Universal Resource Locator

Which of the following softwares is
used to process and analyse

quantitative data ?
(A) Quark Express
(B) SPSS

(C) Quant Chrome

(D) SSQN

AUG - 00115/1—A

44. T A0 hEd 1 THRweR @Tefial e

45.

46.

9 JHUN U 3@l

HEEH, ST-Hd, A, Sige, fases
(A) feires

(B) Sit-He

(C) Hr=eH

(D) ®HH

= Heuld URL a1 SISt olg&
foe®sy wE ?

(A) TR e faw

(B) erectie e efrehy™

(C) I R dhet

(D) FFegda REE dehex

TE&IcHe dedfeR Gfshal hiuamEar o

forgeioT HUATEET @efterdeh] ShIoTd

AR oA Sd ?
(A) FoTeh TR

(B) TH.U.TH.TH.

(C) e &

(D) TH.THFL T
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47.

48.

49.

In the context of computer based

word processing a typeset/fontset

particularly used for Indian

languages including Hindi and

Marathi which can be easily used

across different softwares and

operating systems without the help

of converter is called as :

(A) Unitype

(B) Indifont

(C) Unicode

(D) Ultiform

In the context of computing and

internet, identify the correct pair

from the following :

(A) TB—Memory Storage Unit

(B) Playstore—Operating system

(C) Pixel—Colour
facility

(D) USB—Antivirus

Which one of the following is an

enhancing

example of in situ conservation of
biological resources ?

(A) Botanical Garden

(B) Zoo

(C) Breeding Centers

(D) National Parks

47.

48.

49.

AUG - 00115/I—A
9 WEHE YA Aol foesem
Sfaaea i Rl SaRfeT
e 89 Aifedsiar ‘shwegel’
A=A HEdIRed & aral 49
RO il Shd WU ?

(A) gferEy
(B) EEiwi<

(A) ISt (TB) — wifgd HISav[h Theh
(B) ==isR — fmfen fa=m

(C) frFa — Tadds giaen

(D) gua.si. (USB) — 3idsrid
WTATAYSh] hIvd SRS T
TS FaE 3T 3G ?

(A) FToI 3™

(B) wroft =™

(C) TS &5
D) T 3T
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50. In which states i1s Western Ghat is

51.

52.

spread and known for its rich

biodiversity ?

(A) Maharashtra—Rajasthan
(B) Gujarat-Madhya Pradesh
(C) Karnataka—Telangana

(D) Maharashtra—Karnataka—

Kerala

The solidwaste from hospital 1is

classified as :

(A) Hazardous
(B) Non-hazardous
(C) Compostable
(D) Combustible

Which of the following pairs of air

pollutant causes acid rain ?

(A) Sulphur dioxide—Carbon
dioxide
(B) Oxides of nitrogen—Carbon

monoxide

(C) Sulphur dioxide—Oxides of

nitrogen

(D) Ammonia—Chlorine

AUG - 00115/1—A

50. & fafggden TN Mg afv=d

51.

52.

e U T T 3R 2

(A) HENSE— USRI

(B) TSRId—HIRT

(C) hATEh — AT

(D) FRRISE—HHiceh—hics

SITRITUITATA TR = ShI0cdl ThId

RTOT hell TR ?
(A) =Tk

(B) 3ok

(C) F=oidl &
(D) ¥ @u

TCATeTUh! SRV Siod aTg= SISl Yoo

I qrd o gl ?

(A) T THATFESH — FHEH SH-
EIESIES)

(B) STeETEEH A® ATISISH—HEA
AR S

(C) HoH SRS — RSy i
RIRESE|

=

(D) SEIFTE—FARA
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53.

54.

1s a

Which of the following
herbivorous animal ?

(A) Snake

(B) Frog

(C) Deer

(D) Fox

Large number of people have
serious apprehensions about..............
energy.

(A) Fossil fuel

(B) Nuclear

(C) Hydro-electricity

(D) Solar

53.

54.

AUG - 00115/I—A
WATCTUh! ShIOTT JTof SMHTERT TR ?
(A) 9m™
(B) 9gH
(C) &m
(D) hiewl

GITATTUh! ShITTCAT GehT=AT Sl =
IOUfTRE 3T ARl HATd Hisdl

(A) FISHURA TIRX hHelddl Hell
(B) 317 i
(C) Sfaea
(D) "R Fi

55. Which one of the following agencies | 55. WAt IOl TEeT S=a fyreroms
regulates Higher Education ? e e 2
(A) MHRD (A) TH.TH.STR.E.
(B) NCTE B AL
(0 UGC ©) 7.
(D) NCERT (D) T g
56. Which one of the following is )
_ _ 56. I=a Torerondia foererren =ame@tas
responsible for professional ~ o N NPT
EEJSISIESEICHNERCIHGINEE AR I IE]
development of teacher’s in the I ?
. L,
Higher Education (A) TR — T A AL
(A) SCERT-SITE
(B) TA.H.E.3MR.3. — M. 3TAE.
(B) NCERT-RIE o
(D) UGC-DEB (D) -ﬁgﬁﬁ_gﬁ[gaﬁ
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57.

58.

59.

60.

When was the first Open University
established in the world ?

(A) 1969

(B) 1971

(C) 1980

(D) 1857

Which commission mentioned that
“If we exclude spiritual training in
our institution, we would be untrue
to our whole historical
development” ?

(A) Radhakrishnan Commission
(B) Kothari Commission

(C) Dave Commission

(D) Mudaliar Commission
“INFLIBNET” is :

(A) Research Portal

(B) Learning Resource Portal

(C) Educational Network

(D) Information Library Network
Which one of the following mission
is related to Higher Education ?
(A) SSA

(B) RUSA

(C) RMSA

(D) EFA

57.

58.

59.

60.

AUG - 00115/1—A

ST g et forgardiersht T sheal
el ?

(A) 1969

(B) 1971

() 1980

(D) 1857

YR IOl SATIe SR EE et
TTRTETO STese] TR ST A Ufaiideh
forerreTel @i &7, "' ST hivedl ST
IeTE el 3R ?

(A) THFHUE TN

(B) wiefi M

(C) Ta mEm

(D) HRfER ST
“INFLIBNET” ¥ :

(A) TEEA ded e

(B) 1eqdd WEH R TR
(C) Narfors Feas o

(D) wifed Tened edeh 3%

EciteTdent shiofd TR S=u fYraromett
e e ?

(A) T.TH.T
(B) ARY.TE.T
(C) IMNTH.TH.T
(D) 3TH.T
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